MODULE 16 Similarity and
Transformations

LESSON 16-2

Practice and Problem Solving: A/B

1. Translate Circle A 1 unit left and 3 units
up. Then dilate Circle A by a scale factor
3
of —.
4

2. Dilate ABC by a scale factor of 1.5.

3. Rotate GHIJ 90° clockwise about the
origin. Then dilate GHIJ by a scale
factor of 3.

4. Dilate ABCDE by a scale factor of 0.5,
with center at (-2, 2).
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LESSON 16-3

Practice and Problem Solving: A/B

1. He has switched the side lengths of the

triangles in the last ratio of the
proportion.

2. Possible answers: C—D = DE .

FG GH'
C_D:C_E;E:C_E;mZC:mZF;
FG FH GH FH

m«ZD =m£ZG; mZE =mZH
3. No. The side lengths of all rhombuses

are proportional, but the angles can
vary.

4. /CBD = ZCAE by Corresponding
Angles Theorem. ZC = ZC by the

Reflexive Property. So | lcBD =l cAE

by AA.
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LESSON 16-4

Practice and Problem Solving: A/B

1. Possible answer: ZACB and ZECD are
congruent vertical angles. mZB =
m«D = 100°, so /B = /D. Thus,
| JABC ~ LJEDC by AA.

2. Possible answer: Every equilateral
triangle is also equiangular, so each
angle in both triangles measures 60°.
Thus, LITUV ~ LJWXY by AA.

3. Possible answer: It is given that

ZIMN = /L. &:izﬂ. Thus,
MN JM 3

L1ILK ~ L/IMN by SAS.
4. Possible answer: PQ = QR = PR = 3 .
UT TS US 5
Thus, L/PQR ~JUTS by SSS.

5. Possible answer: /C = ZC by the
Reflexive Property. ZCGD and £F are
right amles, so they are congruent.
Thus, LIcDG ~LICEF by AA. DE -
9.75.
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